;\"l‘l}‘ + 4HCL - Nlll(‘lj F2H,0 4 ('l

he reaction given above is : j

The re '8 \Llll..thnu 1S a redox reaction because in thi

(@) MnQ; s oxidised and HC] ig l'c.r.lucud iy ..
(b) HCI 1s oxidised. |
(¢) MnO; is reduced.
@) MnO; is reduced and HCl is oxidised

4, Consider the following compounds :
FeSOy ; CuSO, ; CaSO, ; Na,CO,

The compound having maximum number of water of crystallisation in i
crystalline form in one molecule is : o

(a) FeSO,
(b) CuSOq
(c) CaSOq
(d@) Na,COs

& In a nerve cell, the site where the electrical impulse is converted into a
chemical signal is known as : 1

(@ Axon

() Dendrites

(¢) Neuromuscular junction
(d) Cell body

6. A metal and a non-metal that exists in liquid state at the room temperature
are respectively :
(a) Bromine and Mercury
(b) Mercury and lodine

€f Mercury and Bromine
(d) Todine and Mercury

7. At what distance from a convex lens should an object be placed to get an
image of the same size as that of the object on @ screen 7
(a) Beyond twice the focal length of the lens.
(b) At the principal focus of the lens.

(c)/ iy Ly ol C_’f Tfhflllcsl;s and its principal focus.
(d) Between the optical centre 0

P.T.O.
33nn



| compoun
g, oaon COmp ds :

(@ arc good conductors of electricity.
(ii) are bad conductors of electricity.
(iif) have strong forces of attraction between thexr molecules.

(iv) have weak forces of attraction between their molecules.
The correct statements are :

@ ()and (i)

(v) (i) and (iii) - -; b b
(© (ii)and (iv) E i
'(d) (i) and (iii) | ; _' a

xides Gf a]ummm and zinc are :

% fagase 1
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consider the following statements -

0 The sex of a Chi.ld is determined by what it inherits from the mother.
) The sex of a' t?.hlld is determined by what it inherits from the father,
(iii) The probability of having a male child is more than that of a female .,
child.
(i) The sex of a child is determined at the time of fertilisation when
male and female gametes fuse to form a zygote.
The correct statements are : 1
@: (i) and (iii) 7
(b) (i) and (iv)
(¢ (i) and (iv) +
@ (), (i) and (v)*
of the following organ is

NOT a part of human female




P P . .

o Tiger, grass, snake, ﬁ‘og

. (dentify the food chain in which the organisms of the second ﬁ'ophic level

r¢ MiSSID - 1
Grass, goat, Jion
) Zooplankton, Phytoplankton, small fish, large fish

?f.'l

itements are -gl en One labelled as Assertion (A) and
rrect answer to these questions from the




SECTION -C

27. (A) Plants — Deer — Lion
In the given food chain, what will be the impact of removing all the
organisms of second trophic level on the first and third trophic

3 level ? Will the impact be the same for the organisms of the third
trophic level in the above food chain if they were present in a food
web ? Justify, 3
OR :

-eé} A gas *ﬁ* which is a deadly poison is found at the higher levels of
sphere and Perfmmsan mﬁal function. -
ned by thls gas in the




‘}{/ () Which organisms have a three-chambered heart ? Why do they have

32.

\

g B e RHE S

three-chambered hearts ?
(i) List two functions of lymph.

A compound which is prepared from gypsum has the property of
hardening when water is mixed in right quantity with it :

(i) Write common name and the chemical name of this compound.
(ii) Give chemical equation for its preparation.
(111) List its two uses.

- () Define a dmposmon reactlon Write chemlcal equatlon for the
reactwn that occurs wtfén lead nitrate is heate& strong ly ina bmhng__

m "jéﬁi@n of water fwo gﬂﬁﬁ' are liberated af

rted at the ¢ ﬂm&e e



P P . .

o Tiger, grass, snake, ﬁ‘og

. (dentify the food chain in which the organisms of the second ﬁ'ophic level

r¢ MiSSID - 1
Grass, goat, Jion
) Zooplankton, Phytoplankton, small fish, large fish

?f.'l

itements are -gl en One labelled as Assertion (A) and
rrect answer to these questions from the




20. Assertion (A): The rate of breathing in aquatic organisms is much fas‘téf :
than in terrestrial organisms. T -

Reason (R):  The amount of oxygen dissolved in water is very highas

compared to the amount of oxygeninair.

SECTION - B
1. (A) @ Write the significance of peripheral nervous system in human
beings.
(i) How is human brain protected from mechanical injuries and
sh@ckﬁ‘? '
OR

K ~ directional growth movement each in 'responge.-. t0
| .-mdwamrmplants Wnteanexample for each of them. =



35. (A) () Define a homologous series of carbon compounds. S
(ii)) Why is the melting and boiling points of C4Hg higher than that

(iii) Why do we NOT see any gradation in chemical properties of a
- homologous series compounds ?
) -Wma the name and structures of (i) aldehyde and (ii) ketone




SECTION - E

Q. No. 37-39 are source-based/case-based questions with 2 to 3 short sub-
parts. Internal choice is provided in one of these sub-parts :

37,

38.

(iii) (A) What is the nature and size of the image formed b

Mendel worked out the rules of heredity by working on garden pea using
a number of visible contrasting characters. He conducted several
experiments by making a cross with one or two pairs of contrasting
characters of pea plant. On the basis of his observations he gave some
interpretations which helped to study the mechanism of inheritance.

(1) When Mendel crossed pea plants with pure tall and pure short
characteristics to produce F, progeny, which two observations were
made by him in F, plants ?

(i) Write one difference between dominant and recessive trait.

(iii) (A) In a cross with two pairs of contrasting characters

RRYY X Iryy
(Round Yellow) (Wrinkled Green)
Mendel observed 4 types of combinations in F, generation. By
which method did he obtain F, generation ? Write the ratio of

the parental combinations obtained and what conclusions were
drawn from this experiment.

OR
(iii) (B) Justify the statement :
“It is possible that a trait is inherited but may not be expressed.”
Study the data given below showing the focal length of three concave

mirrors A, B and C and the respective distances of objects placed in front
of the mirrors :

Case | Mirror | Focal Length (¢cm) | Object Distance (cm)
1 A 20 45
2 B 15 30
i R 30 20

(i) In which one of the above cases the mirror will form a diminisheq
image of the object ? _Jl_}'stify your answer.
(ii) Listtwo properties of the image formed in case 2.

e e Y mirr
Draw ray diagram to justify your answer. e






